6 060
6.1 0OOO
OrFrO00000 f(x)
f(@) = famr@" ™+ fooa" 4 4 e+ fo

000f, 1 #00200000f€F (i=0,1,---,n—1)0f,1 =10000f(z)
0000D0000000000 f,#£00000 2000000000 f(z)00
0000 deg f(z) 0000

Flz]: FOOOOOOOOOOO

6.2 UUOOOO0OO
Vf(z),9(z) € Flz]000000000000000000

max(deg f(x),deg g(z))

f(@) +g(x) = > (fi + )2’

=0

1=0

D000000000F|z000000000f+¢0 f;0 FOOOOOO
oDoooo

(0) GF(2)UO0D0O0O f(z)=2z+10000
fe)+ flx)=az+14+2+1=(1+1)z+(1+1)=0

(GF(2)00 1+1=0)

fl@)-g(z)=(z+1)* =a(z+ 1)+ (@ + 1) =2 +1

6.3 UQOOOO

m(z),a(x),b(zx) € Flz|0 OO
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0000000z 0bz) 000000000

b(x) : a(lx)000
a(x) : b(z)ODODO

plx) D000 ap(z) 0 o000 (o« € FY)OOOOp(x) 000000 (irreducible
polynomial) 00 0000000000000 0O0O0O0OOOOOOOOOOOO

() b(x)DOODDOODODODO0DDOOODOODODOODOOOOODOODOOOOOO
0 (a(x),b(z)) D000

00 12 Va(z),b(x) € Flz]O0O0O

b(x) = a(x)q(z) +r(z)
degr(z) < dega(x)

0000 g(z) € Flx)]00000 r(z) € Flz] 000000000

(O00) Va(x),b(x) e Flz]0 00O

(z)q1(z) +ri(x)  degri(z) < dega(w)

a(x)qe(x) +r2(x)  degra(z) < dega(x)

g2000000000o0oooon

a(z)q () +ri(z) = a(x)ga(z) + ro()
0O

a(z) (q1(z) — g2(z)) = r2(z) — 11(2)
0000 (—g(z)0 ¢(z) 00000)D0

deg (ro(x) — ri(x)) < deg a(x)

00007 (z)#£m(x)000000000000000000000007r(z) =
r(z)000000000q(z) =g 0000000000 O

goon

b(z) = a(z)q(z) +r(x) degr(z) < dega(x)

7(x) = Ry[b(x)] 000 r(z) =b(x) mod a(x)
goooooooo
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00 13 1. Ry () + c¢(x)] = Rew) [0(2)] + Rag [c(x)]
2. Rag) [0(x) - ()] = Rage) [Raga) [0(2)] - Rag) [e(2)]
godoobooooooooooooooooon

00 14 (00000000) 000000 f(z) € Fo]OOO FOOOOOOO
0 FOOODOOOOOOOOODOOO0O00000000

f(x) = api(x) -~ -pm(z) (ODDO)
a€F p(x)~py(x)0000
ggoooooobobooooooooao
00 15 (0000000000) Va(z),b(z) € Flz] dega(z) > degb(z) O O
ag(x) = a(z), ai(z) = b(x)
000n=1,2,--000 ap(2) 2000000 an(z) 0
n-1(7) = an(2)qn(7) + ani1(z), degani(z) < degan(z)
0000000000000000 N>10000ayy(x)=00000
an(z) = (f(2), g(x))
goog
0 2 Va(z),b(x) € Flz|0 OO0
(a(z),b(z)) = y(z)a(z) + 2(x)b(x)
0000 y(z),2(x) 00000000

(0) GF()00000 fi(z)=2*+1, folz)=2*+23+22+10000000
oooo

r +1
41 ) ot 42’ +a? +1
1‘4 T

¥ +2? +x 41

x3 +1 r +1
2 4 ) b +1
x® +a?
x? +1
2 4
z +1 ) 2? +z
2 4
0
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0000 (fi(z), f2(z)) =2+1000000000000000

:1:—1—1—__0 1 2+
0 1oz z+1
0
-xQ—i—x___O 1 __x3—|—1
r+1 | |1 241 ? +x
-x3+1___0 1 __f2(x)
2?4z | |1 z41 fi(z)
oogg
c+1 | Jo1]lo 1 41
0 B 1 z+1 ?+x
N R R
oz 2?4+l ? +x
B 1 s+1 o 1 fo(x)
oz 2?4+l 1 x+1 fi(z)
B R z? fa(z)
o 2?4+l 2+l fi(z)

100o00dooodoodd
z+ 1= (z+1)fo(x) +2° fi(z)

gopoood

[0O0] (000O0O0O00)
0 FOODOODOOOO0O000 f(z)dVa(z),b(z) € Flz) 000000000

a(z) +b(z) = Ry [a(z) + b(w)]
a(z) +b(z) = Ry la(z) - b(z)]

000000000000 Flz]00deg f(x)J0D0OD00O0DO0OO0OO0OOOOOODO
0000000000000 Fyyl]0O000

00 16 p() 00000000000000000000000 Fyylel0OO
gogd

goooobodob Z,oboooodooobooooooooao
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(01) GF(2)00000 p(z) =2*+2+10000000000000F,24,4[7] =
{0,1,z,+1} 0000000000

+ 0 1 x r+1 0 1 T r+1
0 0 1 x r+1 0 0 0 0 0

1 1 0 r+1 T 1 0 1 T r+1
x x z+1 0 1 T 0 T z+1 1
r+1|z+1 T 1 0 z+1|0 x+4+1 1 T

rXT=Rpe ,|r}l=2x+10000

0000F,:2 ,|z]=GFA) 0000000000000 GF4)0 2 — 2,241 — 3
0000000000000

(02) GF(2)00000 f(z)=+2+100000000000000 f(z) =
(zx+1)200000000Fenfr]={0,1,7z2+1}0000000000

0 1 T r+1
0 0 0 0 0
1 0 1 x r+1
x 0 x 1 r+1
z+1]0 z+1 x+1 0

Ud0z+100000000000
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